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RA = RA1 + RA2 + RA3 RB = RB1 + RB2 + RB3 



Dr. M.E. Haque, P.E.  Beam Reactions, Shear and Moment  (Page 6 of 12) 

Sym. w L / 2 

w x  

P1 / 2 

P2 

w L / 2  + P1 / 2 

wx + P2 

P2 

P1 / 2 

SHEAR FORCE DIAGRAMS 

Fig. 1 

Fig. 2 

Fig. 3 

Shear Force 
Diagram 



Dr. M.E. Haque, P.E.  Beam Reactions, Shear and Moment  (Page 7 of 12) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Sym. w L2 / 8 - w x2 /2  
 

w x2 /2  

P1 L / 4 

P2 x 

w L / 2  + P1 / 2 

MOMENT DIAGRAMS 

Fig. 1 

Fig. 2 

Fig. 3 

 
Algebraic summation of coordinates of 
these three moment diagrams will produce 
the final moment diagram.  
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EXAMPLE 3: 

NOTE: 
 
When a =0.5L;   
 
SHEAR FORCE at the mid-span = P/2 
MOMENT at the mid-span = PL/4 
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